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MATHEMATICS

YEAR 10 -STAGE 53

TERM 3 TEST

SEPTEMBER 2009

Time Allowed: 50 minutes

INSTRUCTIONS - S .

+ Answer all questions on the writing paper provided. Marks for each guestion are shown.
+ Caleulators may be used.
* Show all necessary working.

+ Marks may not be awarded for careless or badly arranged work.

Marks
1 ‘The graph below shows details of Simon's trip from Towzn B fo Town A.
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(a) How far apart are the two fowns? i
(b) Between which two times is Simon's speed the greatest? 1.
(¢} How fast was Simon travelling at 12 pm? ' B 1
(d) Acwhat ﬁmé(s) vas Simon 90 km from Town B? 1
{e) 'What was the fotal distance that Simon travelled? 1

2 Shekespeare's Globe Theatre in London was eonstructed in the shape of a regular icosagen,
which is a polygon with 20 equal sides.

(2) Calculate the angle sum of a regular icosagon.

{b) Find the size of cach angie in a regular icosagon.



Marks Marks

3  Match each of the following graphs with its equation from the given list. 5 4
. I'i D
Equation: 4h]
. AY
®) =2 : | Nl . E v
B 2x+y—4=0
Q) 2+y=a. . - o
. 2 X o
@) y=2-1 : - Tn he diagram above, CD is paralie] and equal to EF, and EF bisects CG.
) 2 ) )
(B) y=x-x-2 : (a) Prove that ACDE = AEFG. 3
(b) Hence show that DE is parallel to FG. 2
@& 3) . .
Y\ y . AY 5 James fills a conical flask with water from a tap. Water flows from the tap at a constant 3
te. :
\ _ A A rafe .
\ (2) On your answer page draw a neat sketch of the graphof - <~
- s Tl the height of the water Ievel in the conical flask against
fime. '

level in the éonical flask?
@ . _ (5) (A} Heightis increasing at an increasing rate
(B) Heightis increasing at a decreasing rate

{C) Height is decreasing at an increasing rate

(D) Height is decreasing at a decreasing rate

-
]

. - —
- (2 )
{ f = - o ) B NN . -
2 . ?\ x K :
_ 5 . (b) Which of the folldwing terms best describes the change in the height of the water

6 A certain quadrilateral has one pair of opposite sides equal and one pair of opposite sides 1
parallel. The quadrilateral could be:

(A) arhombus (B) atrapezium (C)y asquare (13} all of these

-
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7 (a) Whatis the name of a curve which has an equatior of the form: 3 10 . 4
D y=a - - P ‘ :
i) y=ar
(iit) xyv=a
(b) Which of the curves above have asymptotes? o |

8
. Q
In the diagram above, P(} is perpendicular fo QR and P§ = SQO. Prove that AQRS isan
isosceles triangle.
i i1 i
s E
In the diagram above, ZPST = ZPRQ. )
(a) Prove that APST s similar to APRQ. 2 -
(b) Hence find the value of r, 2 D . G F
) In the diagram above, EG is perpendicular to DF and DE is perpendicular to FE.
9  On your answer sheet, draw a Targe neat sketch of each of the following equations. 10 P . .
Give the co-ordinates of at Ieasfitwd points on each graph. ‘ ) (2) Prove that ADGE and AEGF are similar triangles. - 3
(@) y=(x-37 . ’ . (b} Hence show that EG*=DG x GF. - 1
By y=5-dr-2
) 2+y=9
1 . .
@ y= - . . . ENDE DER PRUFUNG

(&) y=10-x .



JMEpe. W MKTMEMKRTICS,

| TErM 2 AcSESSMET TASE

HRCS T el _A LOE Axid A\‘:\» *-1]

Lle . Lesn =

() V2O 2wy

Y AV e TR N B

{2} Siron WaS ST ASY
&), H 13D pry

(e) 200 1w

(=) ANALE 83 = 1B (h-2)
=B (-2,

S L. 2 BRUS e
(o) gz Size = 3o 400
' cm e

(éwwﬁ e e
(4022 4 e LSS )
ABAE)

_. fomRE LN .C.g.uc;...é}-. -
(Eount. Gezm L'8)

L LBGE.
L DR Fe

G T

BECH A .

THAE

e} B

__{EE aSTErTE CE) e .

NERRES ).

Cey

e (19) __3-$+n

B 34 @ T o
(i) cu8ic
£1) BpeR8a A

L fh‘) EP e i Tl | A0 HrPE2E8nud,

W APET AR AfRn!
LPET = 4 Pm

-LSP’T = LiPa

, .. AF%”F i]\APE’-& =

._:‘=1+ e e e i P SOOI
U (1Fan) e &‘-PK.%C;_“_ ,

C lares)
(Commens) .
(EniD BMRE & CoRBESPnl AdEUES ERestl)

Ageo v lon = A2

e hon_E o ..
fi-N
nea%

'"‘i" . e e - et et e e
L&) _...\ k - . - -
PR Ty o s e
e hoadye e -
s .
. I ,

(k) C - vemER b
(-24)




A PR CS Y

- LSQR =
LPem = |

‘o Lesa

v

1

il

il

.L BLoe =
S ASer a

L LET 2
L L INEG
e Lges

.'. A beg

_L L

°E T

IX-C T
a0 ~24

B~~~

= B

1B ~ (180~22)
12 —I80n + 22

s

AT
F . 1SascelCE |

= £ Ebad _

2 dqo=t

el (- (ﬂa—'*-) fremsrY
@ Go-qadx

= 2.

L FEBE. =28
g WA EEF
T EE

ey

O, AFPSQ & \SoscEST L
| £5Pa = peme
.!»-E‘T LEPL =

do L8RS wlgn - (An ox) - ke
e .“B: ~Aarx - 2a
tfio =0

& L s I C-UNT Y S o
_FE 11_1:9_____“ IR €2 - b N

s AEG’—D : LEEE =48
[E'DG::

LT ERRAL SiIBSS)
Len swgs ofP g Suges) |

Ceom P ')

(Lsag Tpu sF ‘A_’)

5w L'e)

C{ASGEE s A)

Attee oAt MGLE),

L (H18\LE, Sos =f-4)

S

Lty

g AmanE)
fa-

oAt PAZS e wr2 L' m/m}__ .

,.:. " hG‘ H‘. E-G:.u.. e i
Teor DExFG .

()

- ‘L"iji\iiﬁ'ﬁof'&'@;"'f e e e e et o aiaen e n e
J/\‘ Y =20 SO

s
2 'l FP e e - -
‘l/‘_-_g;__,_z.——;:
Py - .



